3k ETEIMHERROEL, £ (3X5) JAD-HEH

. CBRAD
1 R O HEHK | & XK 5 o 158 A | 15~645% | 655K Ll E
23 3 34,450 | 114,577 | 57,812 56,765| 21,166| 82,279 11,132
it il 1,955 6,107 2,996 3,111 975 4,207 925
x 1t iy 1,597 5,216 2,635 2,581 816 3,678 722
H By =) 1,719 5,522 2,690 2,832 867 3,876 779
H K 2,252 7,414 3,718 3,696 1,174 5,438 802
= A 501 1,558 788 770 265 1,088 205
B A BE B 250 794 414 380 165 598 31
E & W OF M 488 | 1,607 817 790 317 1,189 101
] w 824 2,946 1,485 1,461 501 2,045 400
& S 482 1,502 750 752 264 1,091 147
Bl R 1,408 4,398 2,232 2,166 808 3,196 394
= gy 1,251 3,702 1,876 1,826 597 2,742 363
B 2] 128 423 207 216 60 324 39
H B 1,253 4,061 2,010 2,051 672 2,969 420
X i3 H 727 2,614 1,291 1,323 442 2,011 161
il [ 5,378 | 16,399 8,516 7,883 3,226 | 11,984 1,189
5 E 221 952 493 459 151 633 168
= 411 1,390 667 723 226 1,040 124
1e FH 745 2,586 1,306 1,280 541 1,863 182
&’ iES 191 596 320 276 103 439 54
W &\ R K 316 991 517 474 211 717 63
W & o o A 93 322 157 165 96 205 21
- % 478 1,608 813 795 246 1,175 187
ED PN 51 219 105 114 37 138 44
% 2 357 1,265 634 631 185 921 159 |
# 1 502| 1,761 893 868 246| 1,311 204
#* = 333 1,173 599 574 230 837 106
A K % H 21 59 35 24 18 40 1
+ b =) 1,226 3,862 1,931 1,931 761 2,868 233
5 4 T H 1,072 3,831 1,894 1,937 782 2,819 230
% % — T BE 627 2,294 1,107 1,187 550 1,617 127
K #H H 377 1,333 682 651 272 994 67
# =] my 480 1,619 810 809 330 1,238 51
i i4 537 2,289 1,138 1,151 404 1,522 363
R B 632 2,275 1,209 1,066 417 1,589 269
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T T 4 HEHE | B B 5 % 15 AR i | 15~64%% | 655 Ll £
= 5 1,435 4,506 2,309 2,197 813 3,327 366
® &« % H# 226 845 428 417 154 594 97
7N i 132 616 307 309 90 410 116
H o H H 601 2,112 1,042 1,070 322 1,651 139
T = 5 R 320 1,013 533 480 198 710 105
= T 977 3,721 1,866 1,855 1,046 2,407 268
il =] 500 1,949 971 978 536 1,257 156
VN oy 719 2,694 1,362 1,332 378 1,939 377
E = r B 78 293 148 145 42 221 30
= B 232 835 440 395 233 551 51
B O= oy B 347 1,305 671 634 399 810 96




